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Options :
485584155517. 1
485584155518.2

485584155519.3
485584155520. 4
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Question Number : 971 Question Id : 48558439466 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

[Key

|Value

Ibuulpl chension

|1V1LQ

Choese the comect starements trom the following:

A The wotal chagge i my molated system reindins ednstant,

B. When some charge 5 trnnsferred fo a conductor, v stays at the same place without getting distributed

over the envire ‘El.1.l'1-|:|l\.'t.

- ; oy L
. Chee Coudomb of negative chargs 15 the teanl charge of 6.25 = | 0% slectroms

[¥. Electric field i3 5 sealar fisld

E. Permanent dipole menns that the dipole moment p. exists mrespective of external electric field L

Choose the comest answer from the options given belows

1.B. €, It md E only
& A Deand E oenly
3, B and [ only

1. A Cand E only

Options :
485584157861. 1
485584157862. 2

485584157863. 3
485584157864. 4

Question Number : 971 Question Id : 48558439466 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ
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Options :

485584157861. 1
485584157862. 2
485584157863. 3

485584157864. 4

Question Number : 972 Question Id : 48558439467 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Vatue
CUlIlpl U‘llUIlbiOH IViCQ

Choese the comect alternatrve tromm the following:
1. Gonss law 15 mue for any apsen surface.

Gianes law ingludes the s of all charges enclossd by the snrface for caleulation of electric flux tluoseh
tles mrface,

b

3. Giouss lnw can bemed to calculnte the magnetic fizld due 1o steady carcent,
4. Gausz law iz not based on the tiverse square dependence on distmice coataimed mthe Colommb®s law,

Options :

485584157865. 1
485584157866. 2
485584157867. 3
485584157868. 4

Question Number : 972 Question Id : 48558439467 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :
485584157865. 1

485584157866. 2
485584157867. 3
485584157868. 4

Question Number : 973 Question Id : 48558439468 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Chonse the comrect answer from the following:
[ three charged particles are collinear and are m equilibrinmn, then:
L. all the charged particles have equeal chargs

2. all the charged particles have the same sign and the distaness bebween b consecisive charged particles
Are ahine

3. nll the charged Pﬂrh.cl.r.--. harve the snme sign
4. all the churged parteeles eamat have the ssane saga

Options :

485584157869. 1
485584157870. 2
485584157871.3
485584157872. 4

Question Number : 973 Question Id : 48558439468 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
|Kev |Value |
|C0mprehensi0n |MCQ |
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Options :
485584157869. 1

485584157870. 2
485584157871.3
485584157872. 4

Question Number : 974 Question Id : 48558439469 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Ad 1splated sphere has a capacitance of 60 pF. whnt 13 the radms of the sphera?
1. 5400 cen
2 52 cm
3, 0054 em
4. 054 om
Options :

485584157873. 1
485584157874. 2

485584157875.3
485584157876. 4

Question Number : 974 Question Id : 48558439469 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

e e 7T & 1 60 oF 21 5% i 1 B # g

1. 540 cm

o8 an

3, 0454 cm
4. 054 cm

Options :
485584157873. 1
485584157874. 2

485584157875.3 co”egeduniaé
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485584157876. 4

Question Number : 975 Question Id : 48558439470 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

The electine field mbensity de to an infinite thin plae sheet of surface chorge density (T 15

i
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Options :

485584157877. 1
485584157878. 2
485584157879. 3
485584157880. 4

Question Number : 975 Question Id : 48558439470 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : S Wrong Marks : 1

Question Key Details :
IKev |Value
IComDrehenqion IMCO |
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Options :

485584157877. 1
485584157878. 2
485584157879. 3
485584157880. 4
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Question Number : 976 Question Id : 48558439471 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Vatue
Comprehension MCQ

Three capacitors of capacitances 3 pF, & uF aod 12 uF are conmected 10 series. Find potzohal ditference across
a6 uF eapncitor. if o bettery of 7 Vs comnected across this combination;

B

k] v LI
- N

i3V
4.4

Options :
485584157881.
485584157882.

485584157883.
485584157884.

AW N —

Question Number : 976 Question Id : 48558439471 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Vatue
Comprehension MCQ

3yF, 6 F 31 12 oF 1 a1 317 S ) duiien 3 waifom fm o 2R s v S #e # e
Tt GRS | A1 6 uF & S & fRE o fares g it
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e P
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4.4V

Options :
485584157881.

485584157882.
485584157883.
485584157884.

—
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Question Number : 977 Question Id : 48558439472 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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kKarchhetfs Second Lavw 1= based on law of conservation of

. Charge

2. Enerpy

(3]

- Mommentum

4. Muase and Energy
Options :
485584157885. 1

485584157886. 2
485584157887. 3
485584157888. 4

Question Number : 977 Question Id : 48558439472 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :
485584157885. 1
485584157886. 2

485584157887. 3
485584157888. 4

Question Number : 978 Question Id : 48558439473 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ
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[dentify the graph from the followimg showing the tempershare dependence of reswstraty fora bypical

eamnicnmducicr?

—
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ot

Rty e

Teimgeniliire (T —=

Termpenies (T —=

-

Hoamtryriy (] —3=

Resmtivimy el

Terrpaemne (1 j—=

Options :
485584157889. 1
485584157890. 2

485584157891. 3
485584157892. 4

Question Number : 978 Question Id : 48558439473 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

collegedunias

India’s largest Student Review Platform



et Teafir adilaireren =1 werichan =T o0 O oo =61 v 2wy T @l A @ ge e

! /
L %
i
e e
Tempemtus (T i—
o T
B
a2 :
lesnpere {TI—=
-T- |
|
3
3 &
B
g
=4 M —
Temperamre ([ T—=

eI

Resamvny {o)
N

Teimperanin | Tj—=

Options :
485584157889. 1
485584157890. 2

485584157891. 3
485584157892. 4

Question Number : 979 Question Id : 48558439474 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Im n potentiometer arangement 2 cell of 1.5 V grves a balance point at 450 cm length of the wire, If the cell 15
replacesd by another cell and the balanes point ehafte to 750 em. what 12 the smf of the sseond 2£il?

Lo 25
LinY
J1aV
4.18%

Options :
485584157893. 1

485584157894. 2
485584157895. 3

485584157896. 4 Col |eged un ias
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Question Number : 979 Question Id : 48558439474 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :
485584157893. 1

485584157894. 2
485584157895. 3
485584157896. 4

Question Number : 980 Question Id : 48558439475 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

A room heater s mited TE0W, 220 W Ancelectric bull rafed 200 W, 220V 15 connected in semes with this
hester, What wall be the power comsmmed by the budb and the heater respectively. when the sapply 15 at 220707

L Py =122 W Py=3325W
2 Pg=3328 W.Py= 1148 W

3P =13 W PL=1248W

4, Pg=33 15 W Py=3315W
Options :
485584157897. 1
485584157898. 2
485584157899. 3

485584157900. 4

Question Number : 980 Question Id : 48558439475 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Vatue
Compretension MEQ
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750 W T 220 v IR Reuffm e ST 21 200 W 2
T = T o 220 v TR S A ol aew 3 et BT T ] AR T e o Enit

LPg=1148 W.Py=3515W
2Pg=31 2 W Py=1M42W
L PR=1MiW Pg=1248W
4 Pg=312 W Py=3125W

Options :

485584157897. 1
485584157898. 2
485584157899. 3
485584157900. 4

20 v & U fadd dve 54 4 dojes & i e

Question Number : 981 Question Id : 48558439476 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

#A cell of comstant emt 1s brst commected to o resistace By and then to By It power delovered an both cases are

smanie, then the interal resistance of the cell i

Options :
485584157901. 1

485584157902. 2
485584157903. 3
485584157904. 4

Question Number : 981 Question Id : 48558439476 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ
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Options :

485584157901. 1
485584157902. 2
485584157903. 3

485584157904. 4

Eponse YHme N MBIt AN AR o 1R

ruction

Correct Marks : 5 Wrong Marks : 1

*?1% é l}/{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Question Key Details :
Key Vatue
Compretension MCQ

A vnifonm maenetic field, parallel o the plane of the paper exasted 1 space mitialky directed from left to rizht
When a bar of soft wou ts placed i the field parallel 2o o, the lines of force passing throasgh it will be

reprepentad by

r)f,;f’i'k( -

+ |
-

""r.:._,_.—_'l—-\__\_-‘-"""

3. -
L =

s e

4
Options :

485584157905. 1
485584157906. 2
485584157907. 3
485584157908. 4

~

-
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Question Number : 982 Question Id : 48558439477 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

U YOF TR 43, o S0 & 008 & JH-0E AE0E 2 iy d Ol 3 gt & o Riee ) o-
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Options :
485584157905. 1
485584157906. 2

485584157907. 3
485584157908. 4

gseg(t)lltl)sne q,?nl?g)eﬁ.zsﬁh%lkesﬁ&ne I%Z%ﬁ%ﬁ%ﬁ%‘#ﬁﬁ‘c‘ﬁ%ﬂ?& é I:V{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Ta protect galvanometer from possible damazes due to large current, which of the followme shoeld be
conmeched to 1te coll:

1 LD".".' re'.i.sl:ﬂu:e 1VINE i:II. H:I'.LI:"S

. High resistanes wide o ssrisd

3, Hizh resistance wire in parallel
£, Lo resiseance wire in pagallel

Options :

485584157909. 1
485584157910. 2
485584157911. 3

485584157912. 4 CO”egEduniaé
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Question Number : 983 Question Id : 48558439478 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :

485584157909. 1
485584157910. 2
485584157911. 3

485584157912. 4

Spomee e *R: A e e M AR TR R

ruction

Correct Marks : 5 Wrong Marks : 1

*?31 é 1}/{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Question Key Details :
Key Vatue
Compretension MEQ

The charge which 15 8 source of electac hield st not of magnstic fizlsd 15 =

L. A charge meving moa straight line

2. A chargs statie m space having o speed

3, Acharge meving on helical path of putch

4. A chnrpe cacallaturg wath frequeney W

Options :
485584157913. 1
485584157914. 2

485584157915. 3
485584157916. 4

Question Number : 984 Question Id : 48558439479 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :

485584157913. 1
485584157914. 2
485584157915. 3
485584157916. 4

Question Number : 985 Question Id : 48558439480 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Theere 15 ot conducting wire camyuse camrent, The value of maznetic feld indwction at any point oo thee
eonducior would bhe;

1. Zera
2. Coysfant
3, Posiirve

4. Megative

Options :
485584157917. 1
485584157918. 2

485584157919. 3
485584157920. 4

mme : nimmum ruction

uestion q,umbpﬁzslﬁhgﬂ(es[tion I%Ogsléf843948019§1%esti?n Tﬁl%l é I:V{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

esponse 11me :

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

U et T e 9 O e g O U g T e i A W 0 B
L. 9

4. AT

Options :

485584157917. 1
485584157918. 2
485584157919. 3
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485584157920. 4

Question Number : 986 Question Id : 48558439481 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Il(ev |Value |
|C0mprehensi0n |MCQ |

The coercivity of a bar magnet 1= 140 A m™ . To demagnstize it it is placed inside 3 selenoid of length 1.6 m
aud voniber of s 112, What a8 the cument Howing florougl the selenoud?

1.BA

2 i 1

314
4. 1254
Options :

485584157921. 1
485584157922. 2

485584157923. 3
485584157924. 4

Question Number : 986 Question Id : 48558439481 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Vatue
Comprehension MCQ
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Options :
485584157921. 1
485584157922.2

485584157923. 3
485584157924. 4

Question Number : 987 Question Id : 48558439482 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Vatue

Comprehension MCQ
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Wagmetic ficld| B 2t a point Pasthe following netwerk 15

3
4zR\ 2

dzR

3l

i,
2R

Options :
485584157925. 1
485584157926. 2
485584157927. 3

485584157928. 4

Question Number : 987 Question Id : 48558439482 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
IKey |Value I
Ibuulpl chension |ML,Q I

collegedunias
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Fwfeian ook A i Mg p e gmam &F (g B

el
4zR ) 2

2. J'I'I'I |I. Eﬁ + 3 ]
aR\z

s ul(3, )
dxR \ 2

g S bl
2 R

Options :

485584157925. 1
485584157926. 2
485584157927. 3
485584157928. 4

Question Number : 988 Question Id : 48558439483 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Whach one oot of the tollowmg 15 not an applicatson of eddy caments"T
1. Tramfonue s
2. Spesdomstens
3. Magnetis Brakes
4. [nchsction umace

Options :

485584157929. 1
485584157930. 2
485584157931. 3
485584157932. 4

Question Number : 988 Question Id : 48558439483 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

collegedunias
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Key

value

Comprehension

MCQ

e 7 F 71 975 S 1 e =8 8

1. TR
2wzt =
PR

A, T3

i

Options :

485584157929. 1
485584157930. 2
485584157931. 3
485584157932. 4

Question Number : 989 Question Id : 48558439484 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

Ivan a.e, cavendt. the s voltage s 10042 V. The peak vaboe of voltage would be:

1. 200 W
2 100V
v
L. TOLSW
Options :

485584157933. 1
485584157934. 2

485584157935. 3
485584157936. 4

Question Number : 989 Question Id : 48558439484 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

ac, TRTY H pme T0Ed] 10007 V E| S0 Gieed] &1 598 T S

1300V
2 100 Y
eI
4. TSV
Options :

485584157933. 1
485584157934. 2

collegedunias

India’s largest Student Review Platform



48338410 /95D. 5

485584157936. 4

Question Number : 990 Question Id : 48558439485 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

value

\.,Ulllpl UilCllbiOn

MCQ

Acsquare loop of copper wire 15 prlled throngh o regon of wuform megoete fisld 2 shoon. Eank the polling

forzen F o, Fg. Fo and Fry that iuat be applied to kesp the loop inaving with constant spesd {1‘ |

[ e e . e

i |
I-.:'I. |.-

|

;

e e [ A

|

e e . e

I Pa=Fn.Fa=Fc

2, FoFp=Fp>Fy
3. Fec »Fp > Fa>Fy
4. Fp*Fg > Fp=Fc

Options :
485584157937. 1

485584157938. 2
485584157939. 3
485584157940. 4

'\-: ﬂ

ki

i

I
%

u

x

I
Sp X ¥ “ |
| «+ F—>Fp
|
I I 2
'I_I
% oo
o

Question Number : 990 Question Id : 48558439485 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

collegedunias
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I T TR e W raests & 5 s H A wi & o OT &1 e T e )
Te e € TonE T & R S R REIAEE £y, Py F. 3R Fr, B idaas S -

l'":-_T'_—'-_ﬂ_.__,__'—_.”l
Fa _Ix 2 * x % wxpx x x|
S -ll-x{-'?-}fxt : J[ — Py
5 s R % % e x X x| —»
1, L IJIL F 5 JICL:I 4 o o -l‘
e TRy L e o L Pt W |

[:FE=:FD F;.I:Fi:
2 FC ""]:B=:F:| - ]:._1.
3 Fp>Fn*Fp=F4

4 Fp>Fg*Fa=Fc

Options :
485584157937. 1
485584157938. 2

485584157939. 3
485584157940. 4

Question Number : 991 Question Id : 48558439486 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Find the ettective impendance m the curcwit 1f the source 15 ) DC sowrce myd b) High trequency AC source

L L3
: - = N ‘:l
i A

By
Soufce

LFw D Z=R, - B;and fir AC, 2= B; - B4
2 FuDC Z=Fy and for AC, Z=R.+ B,
L FwDC 2= mdfw AC. Z=0

. For DC. Z=0and for AC. Z =

Options :

485584157941. 1
485584157942.2
485584157943.3

485584157944. 4

uestion q,umbpﬁ:.zﬂ)llhgﬂ?s[tion I(iN'.gSléIi843948619s1%esti?n Tﬂ& ; I:V{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

esponse

me : me : nimmum ruction

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

-

-

collegedunias
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Key Value
Comprehension MCQ

Tt ofrges & Wl ofeanen @ o 310 S0 O 919 & (a0 Do 98 S b 39 AT E Ac |9
R L Ly

LoCH iz -, +n, A AcHF AUz~ 1 + 1,

| B

DCERIz=, ¥L AcF N z= R, + R,
spCcHFfmz-xdRacFRmz-0
4 DCFEMOZ=0HTACTHFN 2=«

Options :

485584157941. 1
485584157942. 2
485584157943. 3
485584157944. 4

Question Number : 992 Question Id : 48558439487 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

£ P
i AL cireirs, flee relatson that bolds i F=—2 where
EF

A F= x-lf'!'l F :u;l"' m e2se of po. ek contamang B and L in sexies
B .z ,"-'H= = %2 foesse of A corewt eontaunng B and C in scads,
C.L= X — X i case of s cireult containkng L and C in sezies.

D, 7= k' =X, - X inecase of ac carenit comtpining R L and C i ssries
Chocss the comest answer fvaim the opfions grren below

LA C.D anly

2.A.B.C ouly

3. 4B, [ only

4 A B C Donly

Options :
485584157945. 1
485584157946. 2

485584157947. 3
485584157948. 4

Question Number : 992 Question Id : 48558439487 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1 .
Question Key Details : COI IegEd unitas;

India’s largest Student Review Platform




Key

'Value

Comprehension

MCQ

ac-afrmy # wref r=Lu waud

[

Az-[REE e TTony fed R W LS00 78
B.z = JR? + X « e, TR0y foresd R 3R ¢ dofimen H §)
€. Z=X, - Xe. e OR0YEFET L 3 ¢ dffam 73
U.;'\:};"-uél”'x.'[-'.ﬁ.¢.‘3ﬁ'EI'u'-EI’?IETRJL~1-ﬁ'{L'ﬂ'Eﬁ?I5Tff§I

1= 30 T faseal & 8 OE I & =6 S

L 3T A, €. D

2 AW AB.C

3. a0 A B.D

4.F90 A B.CIN D
Options :

485584157945. 1
485584157946. 2

485584157947.3
485584157948. 4

Question Number : 993 Question Id : 48558439488 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
ompr chension MCU)

When 1S de 1s applied across o sobsooid, a comrent of 1A flonas m . When 100°% ac 15 appled across te
gams solenoid ihe current dropa to 0054, If the frequency of the ae souree 15 50 He the mpendancs and

thiztanee of the solenoid are

1. 20082 and 0.55 H

2, LD Sk and 086 H
3. 20002 and 1.0 H
4. 100 2 and ¢:93 H

Options :
485584157949. 1

485584157950. 2
485584157951.3
485584157952. 4

Question Number : 993 Question Id : 48558439488 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

collegedunias
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A4 e oA E T 100 v de FERE 2 A0 T 300 14 T uR e g g1 31 8 gl
A 100V ac FET0T B W00 A #RT 054 W PR @R E ot Ac 0 S ¥E S0 e g A g B

WiREN U SR B
1. 200 @ 3H 055 H
2 100 AN 0EsH
32006 A 1.0H
4. 1000 A7 093 H

Options :

485584157949. 1
485584157950. 2
485584157951. 3
485584157952. 4

Question Number : 994 Question Id : 48558439489 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ
MWintch List I vt List 10
LIST 1 LIST I
A | X-my L 8«07 -3« 10¢! Hz
B. | Mucrowayes O {8« 0"=3« 13" He
| Rodsomanes ILf1 w40 -5 102 M
D | IV |5 = 10° - 10° Hz

Choose the comect nnswer from the options grven belaws

[ AL B-IIL -1 eIV
2, A, BeL. CaIl, DIV
i AL B C-INU DTN
4. A-IV. B-IIIL C-IT, -1

Options :

485584157953. 1
485584157954. 2
485584157955. 3
485584157956. 4

Question Number : 994 Question Id : 48558439489 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

collegedunias
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T 1 Fa 14 e e

= =
[T F [ R L o 1 -

A
B |35 v 0§ =207 -3 = [0 Hz
C THE'QTH?I L1 = 108 - 5« 108 Bz
D [ it T < 10F - 1P Bz
Tt e o 4 w8t 3w o =0 Wit -

L. A-TL BT -1 DTV
1. AWTEL Bel eIl DuIV
A AL BIL C-IN D10
4. A-TW, B-IIIL, C-I1, T-1

Options :
485584157953. 1
485584157954.2

485584157955. 3
485584157956. 4

Question Number : 995 Question Id : 48558439490 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

Am E|E-.:|.I.'DL1:|?|_EII.|\'."|:I: wWave gomg I.'u'uu;}l. vacctntt 18 descrzbed I.'rr. E = En':um [kr—wot), B = Ec'i-u:. Lex —wth

then:
[LEk=HB.m
. E,._m = Epﬁlc

3 EB,=uk

+ Bo_ |'I":

B, Vk

Options :
485584157957. 1

485584157958. 2
485584157959. 3
485584157960. 4

Question Number : 995 Question Id : 48558439490 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

collegedunias
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Ty & e 5% FegrgEEia T B £ =E,Sin ik - wt). B =B, Sin (ke — wt) GRS B g
G

i EﬁL = Bq:-"""

2 Em=Bl
3 EI}B-QI = -c.ll-;,

E, [o

§, L= [—
B, Wk

Options :

485584157957. 1
485584157958. 2
485584157959. 3
485584157960. 4

Question Number : 996 Question Id : 48558439491 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

Light 15 travellig fromm one medium to other mediem 3= given m the options. Tn which of the folloome
options tota] vternnl reflastion will be possble?

1. Adr to water

-

2. Adr 1o glaes
3 Watsr fo glass

4. Gilase to waber

Options :

485584157961. 1
485584157962. 2
485584157963. 3
485584157964. 4

Question Number : 996 Question Id : 48558439491 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

Tl & U U B 3§ gHT Sn § e S 8| e e 1 e g i mEde
HyE g

I 3 &
2 T TS
R i

A FEAHE
collegedunias
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Options :

485584157961. 1
485584157962. 2
485584157963. 3
485584157964. 4

Question Number : 997 Question Id : 48558439492 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

|Key |Value |

|C()111p1 eheTsiom |IV1CQ |

A slit of wadth e 1 dhmunated by hght of wanvelength /o What should be the valoe of e to obtam the fizs

; i
masian at ai angle of diffraction of ?1

.
i—=4

V3
b
T3
i34
03,

3 4

Options :

485584157965. 1
485584157966. 2

485584157967. 3
485584157968. 4

Question Number : 997 Question Id : 48558439492 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Vatue

Comprehension MCQ

p. damed ot U W e . e 9 off e g v et e ;ﬁaﬁhaﬁmﬂwmﬁrfﬂﬁm
e aff v e o o 3 o B e '
2

W3

i A

Options :
485584157965. 1
485584157966. 2

485584157967. 3
485584157968. 4 collegedunias
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Question Number : 998 Question Id : 48558439493 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Il(ev |Value |
|Comprehension |MCQ |

Lo YWonana's dowshle shit expernment, yellow halt of wavelzngth G40 mn prodeces friness of wedth 0.5 nun. What
will ke the fimnge widih if the light soires 16 replaced by snother monochromatic seorce of wavelength 720 mu
skl the separation between the slits 14 made thace 7

L. 2.4 mm
2, 2.7 oo
3,003 mm
4. 003 nun
Options :
485584157969. 1

485584157970. 2
485584157971.3

485584157972. 4
gseg(t)lr(l)s% qyl{lnel)e&XQﬁI%ll(es[tll&% Idwi%ﬂ%‘,‘%%i‘,%31%‘%$ﬁ‘c‘g‘3,?¥?& é I:V{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Rey value
Compretension MCQ

o o feferdt wm o ﬁili'lm1ﬂi"'1'!ﬁ'€flﬂ'f1ﬂﬁm$mﬁﬂSmmﬂ'ﬁﬂ}ﬁmﬁ | G S0 U I
T EAR 720 un TETRE] T U T T B WIORRATE 7 w3 S Rt o e g e
T e i g A e S sEndt

[. 24 mn

AT wmn

D RTTHY

Tad

4. 003 mun

Options :
485584157969. 1

485584157970. 2
485584157971.3
485584157972. 4

Question Number : 999 Question Id : 48558439494 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

collegedunias
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An astroneinteal telescope consists of an olbyective of focal length 50 cm md evepiece of focal length 2 cm 15
fecassed on the mioon so thst the fisl image iz formed st the least distance of distmet visson (25 am)
Aapemag angala diameter of guan ae {27 #t the obyective, the angular size of wnags s

l 7

-

2,/13:4%

T}
=
3

4112

Options :

485584157973. 1
485584157974. 2
485584157975. 3
485584157976. 4

Question Number : 999 Question Id : 48558439494 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : S Wrong Marks : 1

|Qj;§§1ign Key Details :
Key |Valu_e |

|C0mprehension |MCQ |

U HA1e gia [aad HTEe0E &1 BEd g1 50 an AW -TH6 & BIFE 58 2 im & & 9501
T TR T 7T e if e e e areman 5 (25 exm) T | T o aifbreT
ST W WY T (12 o Wi o wmii ame—— - Bl

Options :

485584157973. 1
485584157974. 2
485584157975. 3

485584157976. 4

Question Number : 1000 Question Id : 48558439495 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCTQ)

collegedunias
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& spherical oir fens of radii By = Boo= 10 cm 15 ot from a glass (p = 1.5} sylmder a5 shovwn in figure, Its focal
length s £, If & liquad of vefractive isdex 2 15 flled in the spage then the focal length of liguid lens becmies
f-. Cakoulate f; nnd §~. Chocse the carrect options fram the following.

—= (ilas=

lerris
7
_{'“ ="
P ——
F Ll B I||—
L=18cm. L= 3l
2. E|-—:5|::1|_:|:':- = Akem
Ah=—1onf= =15 am
i =—MWem f;= - 15em
Options :

485584157977. 1
485584157978. 2
485584157979. 3
485584157980. 4

Question Number : 1000 Question Id : 48558439495 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key

'Value

Comprehension

MCQ

collegedunias
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10 en T (R, = B 3 Tt O 36 W ACETER T (0 - 1.6 F RERER a7 T I wies
i £ ¥ o T e v e P anderi 2 8 3w S A 5w o e o £ P e
B 4, &l £, T A

=il fopn 0 ] @ & 96 9T & 90 S

s
A

| e
— (alass
p=b.3 —||I I|I

Lip=18 ¢con £ = 30 em
:..l:_-l-—:.'; caL I-:- - 30 cm

Jfp=—1%an f,= =15 em

$.fi=-3em f.=-152m
Options :
485584157977. 1

485584157978. 2
485584157979. 3
485584157980. 4

Question Number : 1001 Question Id : 48558439496 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Linear magmtication produesd by 2 muror s + 1.5
L. Tt 15 a concave maror vath obpect between F and 2F
2, [tiz a copeave mugror with object between F and Pale
3, Itis & comves marvar with otyeet at infty

4. Itis a coervest wirar with olqeet sayorbers o fomt of the s

Options :

485584157981. 1
485584157982. 2
485584157983. 3
485584157984. 4

Question Number : 1001 Question Id : 48558439496 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Il(ev |Value

collegedunias
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|unupx chension |1V1LQ

00 B O S - 158
I B a0 34N 7g MM F 31 2F S AW e
2. T ST EU & W A F AN ym i ne
3. UF 3T aUw § wE e ae e )
4.1 F9a gm o wel farE gdm & wne st i v mm g

Options :

485584157981. 1
485584157982. 2
485584157983. 3

485584157984. 4

uestion q,umbe&igolﬁﬁi&uﬁtmn A4I§P584394917n8ues ion ',h/glee :: IXICQ Option Shuffling : No Is Question Mandatory : No Calculator : None

esponse Time : me : Inimum ruction
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

The type of wavetront thet emerges from 2 distant light source 15
1. Cylmdneal

2. Plane

3, Dvergmg spherical

4. Converging spherical

Options :
485584157985. 1

485584157986. 2
485584157987. 3
485584157988. 4

Question Number : 1002 Question Id : 48558439497 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

U R T T 4 il g ave) oo o v 2

-

L FETATEHE

2. THHT

3. iftrmnfen aitn
A, HOHTT T

Options :
485584157985. 1
485584157986. 2

485584157987. 3 collegedunias
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48200410/980. 4

Question Number : 1003 Question Id : 48558439498 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
IKey |Value I
IL,Uulpl chension |MLQ I

A profon. » denfron, an elecivon and ®-paricle bave snme energy. Thewr deBroghe wivelengths are b, /g, 2,

wand A |r.--.-|'|:u,:ri-.|:'_;.'

s
-
.
-
-
1

Options :

485584157989. 1
485584157990. 2
485584157991. 3

485584157992. 4

Question Number : 1003 Question Id : 48558439498 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
IKey |Value I
Ibompx chension |ML,Q I

uaamz"?_:ﬁgt_W&m;ﬂm:c:.maﬁmm&'ﬁlmzﬁ.ﬁmmmm:

rL. iﬁ_ J¢-3-"I? .'.:':E-

-E..-".=r._h=.f,'.;' fpr

Options :

485584157989. 1
485584157990. 2
485584157991. 3
485584157992. 4

Question Number : 1004 Question Id : 48558439499 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ
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The comest curve between stoppine potential (Vo) and miensity of incrdent radiztion (1) 21 constat frequensy

N, 4
1 \\\
e,
—
1
e 8
_,.-"'.
-] "
2 @
o
I."
L *
o
-".-’-'-
3 /
II'.
i
W
4.
-

Options :

485584157993. 1
485584157994. 2
485584157995. 3
485584157996. 4

Question Number : 1004 Question Id : 48558439499 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ
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R i W O e ) ol smfae & fiea & 70 a8 7w &

l'll’l

P

N

Options :

485584157993. 1
485584157994. 2
485584157995. 3
485584157996. 4

Question Number : 1005 Question Id : 48558439500 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Whach of the following statements are correct?

A Photoelectric current depeinds oo tle intensity of light.
B. The stopping potential is directly vedated to the maxamnm kinetic encegy of electrons euanted whach s
dependend on the drensity of ineident radiativa.
. Photoelectric emassaon froan a metal surfuce ocours due to absorpiean of a photon by an electran
D, Photoelectric effect follows the lrw of conservation of energy.
Chocse the codrest answer from the eptions given el
1. A Band C only
2. B, Coaod D oaly
3. A, C and I only
4. A B ond D onlby

collegedunias
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Options :
485584157997. 1

485584157998. 2
485584157999. 3
485584158000. 4

Question Number : 1005 Question Id : 48558439500 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ
i 7 F4 W & a9 82

A, T TS0 WrT, OaeTe) & i o P 5l 8 _

B. Rt fava . eafda goiesl-i ot adieran nfos e 3 ddfta ¥ @ o amofaa fafssm =t diam
W AR T R

¢, it %qmafm (R B T v eun Swiin soeeH 5N UE HIEH # 3Eem &
T |

D m.ﬁg%nmaﬁ.mwﬁﬁwm&@mmél

it fam mu fameal A O w8 3 o 5o e
1 &aE A B HEC
3. a6 B, C HLD
3, Fad A.CHRED
4. FE0 A B MU D

Options :

485584157997. 1
485584157998. 2
485584157999. 3

485584158000. 4
Rgselg(t)ll(l)sne ?nlyg)e&,llolol?“(ayﬁt&{)enlﬁA%%?%‘}?{%()llng}lﬁg 11(())111l ’{,Y&ee :: IX[CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Compr ehension MCQ

What wall be the enerzy relepsed in the fusion process of twe hghter mucker of masses my and mo into o
mnelens of mass M7

LSl

;g = my) =M et

2 [M—m; +my)] s
3. [ —amg )t |:|'.:!|::
4, [M + im; —m,)] &*

Options :

485584158001. 1
485584158002. 2

485584158003. 3
485584158004. 4 collegedunias

India’s largest Student Review Platform
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Question Number : 1006 Question Id : 48558439501 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

oy AT, SEHA G ) B A o e T 59 M ES0HE & A B el &9 W
T v = il

-

- [lmay + ey} — M ot

[M = f{my * ma] e

L E¥

AL — my ] e

T

-

[M = {m; —ma)] e

Options :

485584158001. 1
485584158002. 2
485584158003. 3

485584158004. 4

uestion l}llumbelN:.AOIQIZil%y tlon:IIQ.A4I§P5843950ﬁls uestion ”,Hglee :: IXICQ Option Shuffling : No Is Question Mandatory : No Calculator : None

esponse Time : 1me Inimum ruction
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Vatue
Compretension MCQ

Belect the correct statzment tor nuelesr force
1. stvomg. short muge and chage mdependent
2. sitractive, lomg rangs snd charge independem
d. stromg, atractive and clmrge dependest
4. atrong, short snge aisd repulaave

Options :
485584158005. 1

485584158006. 2
485584158007. 3
485584158008. 4

Question Number : 1007 Question Id : 48558439502 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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ATifeiTe e e e e an e e
1 e, Y O i e e e e
2, AT, A urE e s Pf e a
3, W], W R a9 R

4. g9, 99 U AR uiE S
Options :
485584158005. 1

485584158006. 2
485584158007. 3
485584158008. 4

Question Number : 1008 Question Id : 48558439503 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

The energy ciagram of hychrogen atom 15 given below. Amranae the wavelengths comesponding to different
ELIHEEIOLE 0 IHEressng order

0.85 eV
W A
— 1.5 eV
A, A
PR _3.4eV
"-:'13
Y 13.6 eV
LAy~ 4 = Ay T A
i iy = A hg P by
oy A T g S AD
4 JA-':E '.rL- '.I'D
Options :

485584158009. 1
485584158010. 2
485584158011. 3

485584158012. 4

Question Number : 1008 Question Id : 48558439503 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

|Key |Value |
Ibuulpu:uension |ML,Q I
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BEEEA THT &1 ) 1 T o 8. fafis Segete &1 390 add el & 990 e § st

T

A

-85 eV
- 1.5e¥

-34eV

3

h § 13.6 eV

1 .l'j'-"l-".B-'\' :'.A. r ':-L_

P Pl e

Bd

ik

Ty

b P =g =iy
4. by = kg *ie *in

Options :

485584158009. 1
485584158010. 2
485584158011. 3

485584158012. 4

Question Number : 1009 Question Id : 48558439504 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key |Value |
|Cumpwhcuaiun |IviCQ |
Mintch List I veth List 10
LIST1 LIST I
222 J1B + -
Alg Rn —— [ "Po I | particle
2 opys 4 .
| 11 Bl — P Po [ F:::.'Ill:lc
w4 1
C '!I: Th —= I*: LJ 'I'.I:I'I'C'\-:a.nll:lf
k] T
D Na —— Na IV e particle

Choose the camect nnswer from the options grven below:

I A-IL B[ O8I0

s

A=I1L BeID, C=IV, T]
1AL BaL LIV DuI1

4. A-L B-[IL.-C-IIL DIV

Options :

485584158013. 1
485584158014. 2
485584158015. 3

485584158016. 4

~

-

collegedunias
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Question Number : 1009 Question Id : 48558439504 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Lompr ehension MCQ

T 1 Hal 1 e e

= 1 = 1
12 218 L _
A lee R —— 2 Po I )
B |n'Bi — L'Po I am
¢ | Th — U m | =m
N IIIH"?' : » |I||::|"'Illa IV. g
femfelfiaa fomeal o 2 T8t 397 =1 =0 Sifan -

oA=L B[ C-1% Ta-11
<, AT, B=10, C=1, T]
3. AL B-L IV, D-T
4. A-I, B-II, C-III, DIV

Options :
485584158013. 1

485584158014. 2
485584158015. 3
485584158016. 4

Question Number : 1010 Question Id : 48558439505 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

Wihach of the following statements 15 NOT comest;
L. Pare sificon daped wath a tnvalent mmpamity gives a pobype ssmconduchon.
&, Majority eavviers in an n-neps seatieonduetor are holes
3, Minemty carriers my a p-type senmcoyluctor are elechon:,
4. Thee vesasininy of o inrinsie semaconduetor decrenses wath iserease of rewipesatire

Options :

485584158017. 1
485584158018. 2
485584158019. 3
485584158020. 4

Question Number : 1010 Question Id : 48558439505 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

|Question Key Details :

Key |Value

|C0mprehen510n |MCQ *, COI Ie ged u nias:
OG India’s largest Student Review Platform
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Py Fu 1§ S50 FyT A0 )

L. [ el Ereet s & ey i F poman @ o T 2 2
2. - HETR A7 apshemonn o A o we )

3. oA @ AT 3 dgdEE aIeE guagiE o o

3, 39 HeAIaE o ST A 95 W Hed 2

Options :
485584158017. 1
485584158018. 2

485584158019. 3
485584158020. 4

Question Number : 1011 Question Id : 48558439506 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Vatue
Comprehension MCQ

[ddentify the Iogic operation cammed out by the followang circut,

vo— |

Bo—{ |

-
2
[ v
| o
1. AND

2 NAND

3. NOT

Options :

485584158021. 1
485584158022. 2
485584158023. 3

485584158024. 4

L
o

_l_l'}--C- ¥

Rgselg(t)ll(l)sne ?Igleb:eﬁ:.&ullﬁigy;islt&{)élzl&wﬁfm%%?al) n?tllgﬁscttli%llll E&ee::%lCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Vatue

Compretension MCQ
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e ahmy 8 Sifas sEik & geai-)

Ao I_ i >:b
— o
Bo— | o
1. AND
2. NAND
3, NOT
4. OR
Options :

485584158021. 1
485584158022. 2
485584158023. 3
485584158024. 4

Question Number : 1012 Question Id : 48558439507 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key |Value

|u)mp1 chension |1V1\,Q

In the figure potential differznes between Aand B s

. ), ppesrar % ki

1]

e AN

=

1.0W

-

Options :

485584158025.
485584158026.
485584158027.
485584158028.

B S

gses(t)ll(l)sne q"'illlrlnleb:ef\f.&ullﬁirg(uﬁtmnzIIQ.EAWSM”SQI%&“SHOH "HRI% : IXICQ Option Shuffling : No Is Question Mandatory : No Calculator : None

me mimum ruction

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Compr chension MCQ
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ErmEEAAdre AT A

P L —

BEL]

kL)

W i

| o]
{ o
<

-
e
=

4BV

Options :
485584158025. 1
485584158026

.2
485584158027. 3
485584158028. 4

Question Number : 1013 Question Id : 48558439508 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Mlately List T vath List 10
LIST I LI5T 11

A [Leser Dhode L_[Denect optical sumals

B [LED [ |NValage Repulator

C. [Recufier 1L |Remeote Control

D [Plono diods IV, |AC 4o DC

Choase the comect nnswer from the opitons given belaw:

I A-T; B-I0 C-I00, DTV

2. A=l B[V, C-1, T-I11

3. ARl Bell, CalV, Tl

4. A-IL, B-E11. C-IW, D1

Options :

485584158029. 1
485584158030. 2
485584158031. 3
485584158032. 4

Question Number : 1013 Question Id : 48558439508 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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et 1w gt 1 e i

T

TR 1T

SIS | L | WEEE TRl & S )

LED i |Ttear Froms

A
B
C |ferEd m | g3 FdEF
D, | o 3mE | 1w | werEd a8 awr

Tl fameal o 3wl o 51909 Fifm .

[. A-L B-Il. C-IIE DIV
I, A=l B[V, C-1. DI
3. AL B-IT, G-IV Dl
4. AL B-IIL C-TVE DA

Options :

485584158029. 1
485584158030. 2
485584158031. 3
485584158032. 4

Question Number : 1014 Question Id : 48558439509 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The heizht of a TV tower 15 180 m. To what distance the fmosmisson <o be made from fhis tower, if the

rading of earth is 6.4 « 108 m?
L. 18 km
2.8 Jam
3 4E km
d. 64 kam
Options :
485584158033. 1

485584158034. 2
485584158035. 3

485584158036. 4

Respoiose T ek Aot W AaRiainim e

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

uestion
ruction

',Rrglee :_%ICQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Key

value

Lompr chension

MCQ

-

-
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TF .91 257 1 S5 180.m | 97 76 F FR 64 - 108 w B T 0 21T F T e ol O

L. 18 Juh
2, % Jam
3. 48 ki
4. 64 am

Options :
485584158033. 1

485584158034. 2
485584158035. 3
485584158036. 4

Question Number : 1015 Question Id : 48558439510 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

MWlateh List T vath List 10

LIST 1 LIST 11

A Dl [ B earieval of miommanen from the camer
LALE Al ﬂ1t TECEIver

B (B naetemd i1 ETequensy Tidge over whick an eguipmeni

il s opemies

v IDemodidation [T Supenmpesthon of a sgnal on a high
frequency weae

I [Pandwidh I Fimnd n_ll'ﬁ'rqurnl:ie: representeg the
o el agnal

Clooge the carrect noswer from: the opheons green balaw:
[ A~V B-II0, C-I1, T

v eI, Bl C-IIL DIV

[ B

- AL BIIL CAEV, Tl

e

4, AL B-1V, C-1 D-10

Options :

485584158037. 1
485584158038. 2
485584158039. 3
485584158040. 4

Question Number : 1015 Question Id : 48558439510 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
|L<ev |Value
IComprehension IMCO |
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et 1 o gt 1 e e

T

Higdam | L |k aEs a4 & gEn s mia

g fimm | 1. | e oore R wd o wrt o

A

B

c |f T | | R AT T IR e R
D |gFdEE | | SRWE g6 & e E 98 g

P fomeal o 3w o = w0 Sy

L. A-TW, B-IIL, C-11. D1

A=l B-IL T-111, D=V

§-J

AW BT C.EV Tl
4, AL B-IV. C-1 T

Options :

485584158037. 1
485584158038. 2
485584158039. 3

485584158040. 4

Question Number : 1016 Question Id : 48558439511 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

value

Comprehension

MCQ

Two point charges q smd —3q ars kept 12 cm apart, The distance of the point from g on the Line between fvo
charges at which potential dus to this syetem of charges & zero will be ;

1. 6em
2. 4 am
5.3 em
4. 2 cm
Options :

485584158041. 1
485584158042. 2

485584158043. 3
485584158044. 4

Question Number : 1016 Question Id : 48558439511 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

value

Comprehension

MCQ
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T g 00 q AN -3q UF I T 12 e B 3 00 70 0 90 2050 0 SIS aTeil T3] 0% 18T 4
B 0 Eni, Wl g e i o FEW fauE I e

L. 6o
"l- '1 F10
B
4. 2an
Options :
485584158041. 1
485584158042. 2

485584158043. 3
485584158044. 4

s R AT Qe I AR

Correct Marks : 5 Wrong Marks : 1

ot

uestion
ruction

’{,Y&ee : IX[CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Question Key Details :
Key Vatue
Compretension MCEQ

Mtahty of electrans

A deceases with increase i potential difference

B. mcrsasss with mesease m potentual daffesssee

O does oot depsesd on porestial differeies

D). decxenses with decrease 1o temmperahne of conducior

E. indepewdent to the tempermiare of conductor

Cheoes the correst answer from the eptiens given below

L. Aand E ouly
2. Boand E ooly
3. Coand T ouky
4.C and E oaly

Options :

485584158045. 1
485584158046. 2
485584158047. 3
485584158048. 4

Question Number : 1017 Question Id : 48558439512 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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TEe A A Tt

A favar & 92 A S0 g g
B. T & g5 4 ity gt &1
o, favar T i = o

D. FFEE &1 a9 92 T FHH gl 8
E. IFFp & a1a oe Fefy 78

At fem o fammet o 1 i o =1 95 Fifen:
1, a0 A HRE
2 Han B ANE
3, Famc D
4 FHEAC ATE
Options :
485584158045. 1
485584158046. 2

485584158047. 3
485584158048. 4

gseg(t)lltl)sne yllr?ebeﬁ.gﬂllﬁ“gyﬁt&?enlﬁA%ﬁgﬁ%g ¢ }'llel%‘t:llgllll "HRI% : IXICQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
compr chension IVICU)

The chsplacenrent cumrent theg bo fume varyne slecirie field 15 ziven by

I' !'I'l'l i&
e
dip,
2 EI.I ﬂ
dt
5 ;102,1%
dt
. 90
dt

Options :

485584158049. 1
485584158050. 2
485584158051. 3

485584158052. 4
gseg(t)lltl)sne 1%%‘;:‘?3’?&".&"1‘:?&“?%%’& A%%%ﬁ?{glﬁﬂggﬁg 11?)1111 ’,Hglee :: IXICQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
IKey |Value I

Iu;mp; chension |1V1LQ I
.
Qcollegedumas
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oo i gy fieaa s § ufeds & e e e g 8

Options :
485584158049. 1
485584158050. 2

485584158051. 3
485584158052. 4

Correct Marks : 5 Wrong Marks : 1

ti ber. : ti H 58439514 i
é‘seﬁo'ﬁ’s"e 'ilrrl{le :e IN-AQI]]?“(&? "Fu%{)en: .A4I§I<in§mum ns }lﬁg 11(1))%

F’HR]% : IXICQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Question Key Details :
Key Vatue
Compreternsion MCQ

The graph slows the varinfion of the magnification (m) prodoced by a thin keos with mage distance (v}, The

focal length of the lens is

(]|

#d
=]

f e

Options :

485584158053. 1
485584158054. 2
485584158055. 3
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485584158U50. 4

Correct Marks : 5 Wrong Marks : 1

Regoivse e s Aot AR iam Threeion

’,'hfglee : IX[CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Question Key Details :
Key Value
Comprehension MCU)

UF Toa o8 713 Uae ) & ufofde T 0 F o0y ofvad= one g 39 7 21 S8 & B g B

i

B-d

I

| ==

Options :
485584158053. 1
485584158054. 2

485584158055. 3
485584158056. 4

Question Number : 1020 Question Id : 48558439515 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

collegedunias
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Mloteh Lost Twath Lest 1T wsing Bolr's atomie macdel;

LIST 1 LI51 11
A [Radios of electron orbt | Emcﬁ}- proporticeme] ot
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I A-T, B-IL C-TI0, D=1V
2. A1, BaL. C-II1. D=[V
3 A-L Bl C-IV D-IT

4. A-IV. B-IIL C-II, DI

Options :
485584158057. 1
485584158058. 2

485584158059. 3
485584158060. 4

Question Number : 1020 Question Id : 48558439515 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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